
Copyright 2006
B-Tech International Limited, Croydon, CRO 9UG, UK

www.b-tech-int.com

BT7012
STEEL PURLIN MOUNT
FOR 50mm POLES

B-Tech International, its distributors and dealers are not responsible for damage or injury caused by improper installation.

PLEASE KEEP THIS PARTS LIST FOR FUTURE REFERENCE

PARTS LIST
MOUNT PLATE 
ASSEMBLY

DRILL 5MM 
HOLE HERE

SETTING THE POLE
VERTICAL

WHEN MOUNTING HEAVY EQUIPMENT AN OPTIONAL
LOCKING BOLT (PART 12)  MAY BE USED TO SET THE
POLE VERTICAL AT ANY CEILING PITCH UP TO 45.

- ONCE SECURED TO THE PURLIN, ALLOW THE CLAMP
TUBE ASSEMBLY TO NATURALLY HANG PLUMB.

- DRILL A 5MM HOLE THROUGH THE MOUNT PLATE
ASSEMBLY USING THE SLOT IN THE CLAMP TUBE
ASSEMBLY AS A GUIDE.

- PASS THE SCREW THROUGH BOTH ASSEMBLIES AND
ADD THE WASHER AND NUT AS ILLUSTRATED.

- ENSURE SAFETY BOLT (PART 6) IS IN PLACE BEFORE
 ANY AV EQUIPMENT IS FITTED.

CLAMP TUBE 
ASSEMBLY

 

No PART NAME QTY 

1 MOUNT PLATE ASSEMBLY 1 

2 CLAMP TUBE ASSEMBLY 1 

3 M10 X 30 HEX BOLT 5 

4 M10 OD19 T1 PLAIN WASHER 2 

5 M10 NY-LOCK NUT 5 

6 M8 X 60 SAFETY BOLT 1 

7 M10 X 10 GRUB SCREW 2 

8 PLASTIC TAPER MOULDING 1 

9 5MM ALLEN KEY (PART 6 + 7) 1 

10 LARGE BACK PLATE 1 

11 SMALL BACK PLATE 1 

12 M5 X 20 DOME HEAD SCREW 1 

13 M5 OD12 T1 PLAIN WASHER 1 

14 M5 NY-LOCK NUT 1 

1

2

3
4

5

6

7

8
9

10

11

4 x mounting nuts and bolts
(parts 3 and 5)

0

13

14 12

Suitable for all 'Cee' section purlins
and all 'Zee' section purlins where 
dimension 'A'  is at least 95mm.

10
4A

Back plates and mounting bolts
may be used in several
configurations.
All installations must be carried 
out by a suitably qualified person.

Suggested mounting method
for horizontal purlins (Left) and
angled purlins (Right)

SAFETY BOLT
PART 6


